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adicionando trés fragdes
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Encontro: Data: Pontuagao:

www.snowmath.com



https://www.snowmath.com

— j adicionando trés fragoes
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Nome: Encontro: Data: Pontuacao:
61
stotls=—=2—
8 30 30
3,1,.2_19_ 1
9 9 3 9 9
6 6 5 299 59
—+=-+== =2
5 9 8 120 120
12+11+6_11 _32
33 9 3 73
5 3 5 277 25
e
7 4 6 84 84
3 2 3 19 4
—t+—F+=-=—=1—
9 6 5 1 15
2 1 7 381 101
S =
7 5 8 280 280
7 6 6 65 5
-+t —-t+t-=—=5—=
4 9 2 1 12
6 3 1 37 9
—t=-t==—==1—
8 7 7 8 28
4 1 1 97 7
—F+—t=-=—=1—
5 9 6 9 90

www.snowmath.com



https://www.snowmath.com

